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sinh(x)

X -X 2x
sinh(x) = & 2e = 82 . I
e

D(sinh) =R
H(sinh) =R

argsinh(x)
argsinh(x) = In(x +vx° +1)
D(argsinh)=R
H(argsinh) =R



cosh(x)

e +e’ e +1
2 2e"

cosh(x) =

D(cosh)=R
H (cosh) = (1,%0)

argcosh(x)

arg cosh(x) = In(x +v/x* - 1)
D(argcosh) = (1,%)
H (arg cosh) = (0, %)




argsinh(sinh(x))
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argcosh

(

cosh(x))

N /
\ : /
s /
T/

Tm —6m1 -5

T

T

aTr

VY

aT




tgh(x)
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tgh(x) argtgh(x)
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argtgh(tgh(x))
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coth(x)
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coth(x) argcoth(x)
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argcoth(coth(x))
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vzorecky

sinh(x = y) = sinh(x)cosh(y) = cosh(x)sinh(y)
cosh(x = y) = cosh(x)cosh(y) = sinh(x)sinh(y)
sinh(2x) = 2 sinh(x)cosh(x)

cosh(2x) = cosh” (x) + sinh” (x)

sinh”(x) = %(cosh(Zx) -1)

cosh’ (1) = —(cosh(2:)+ 1 tgh(x) = 1gh()
gh(x) = 1gh(y

] o igh(xxy)=
cosh’(x)-sinh*(x) =1 ghtx=y) 1 +2gh(x)tgh(y)

2tgh(x)
1+tgh’ (x)

tgh(2x) =



vztah k sin/cos

sinh(x) = —isin(ix)
cosh(x) = cos(ix)
tgh(x)=—itg(ix)
coth(x) =icot(ix)



* retézovka
» fyzika
e tractrix




